Lecture 3 - September 4th 
· took roll

· announcements

· final exam room

· midterm will be a Wednesday night at 7pm on a date to be announced

· Blackboard is up and running

· Discussion board is available

· Went over the following programs posted on the web page

· discussed the FORTRAN features in them

· modified them to see what effect changes would have

Array

DoLoop
SubroutineBefore
SubroutineAfter
ArithmeticIf
Function
LackOfReservedWords
Output
PassingArray
· Posted submission requirements under announcements on Blackboard

Remarks
· functions return a single value

· function calls occur on the right side of an assignment operator

· values computer by a function replace the function call and are assigned to the variable on the left side of the assignment operator

· FORTRAN has no reserved words

· FORTRAN parameters are passed by reference

· subroutines return zero, one or many values

· subroutines are accessed via a CALL statement

· functions and subroutines transfer control back to the calling program via the RETURN statement

· after a subroutine call, control returns to the statement following the CALL statement

· after a function call, control returns to the statement with the function call in it

· actual parameters in functions and subroutines may not be literals

· each read statement goes to a new line of input (card)

· subprograms may be placed before or after the main program

· DO loops can count up or down.by an amount of the programmer's choice

· the loop control variable of a DO loop may not be changed by the programmer inside the loop

· changing the value of the variable used as the terminal value of a DO loop has no effect on the number of times the loop is executed

· the initial value of the loop control variable of a DO loop is set on entry to the loop

· the initial value of the loop control variable is compared with the terminal value on entry to the loop and the loop is only entered if it is in range (i.e. if it's less than the terminal value on an ascending loop and greater than the terminal value on a descending loop).

· the default modification of a DO loop is +1

· one of the built-in library function of FORTRAN is the mod function.  It returns the remainder when the first number is divided by the second number

